
Name: ______________________  Trigonometry – 18  
  Areas Practice Test 02 
 

                                                       A
triangle=  2

base height  s = 2
a+b+c  Atriangle= 2

a b sinC  

 Atriangle = √s (s )(s )(s )a b c  
 

1. Determine the area of triangle ABC below. 
Round your answer to the nearest tenth. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. Determine the area of triangle ABC below. 
Round your answer to the nearest tenth of a unit. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
3. Determine the area of triangle ABC below. 

Round your answer to the nearest tenth of a unit. 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

4. Determine the area of triangle ABC below. 
Round your answer to the nearest integer. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 



 
5. Determine the area of triangle ABD shown below. 

Round your final answer to the nearest integer. 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


